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2AM: AKX AL
Hu: ABA FHSNEA
Sl BEFY ol (FHAY SHE) CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Os&E X 224 HAa|
1,100& * 1JHA « 8AIZ2H = 105Y 924
OS85 1X AMIYOIIIE AIER X 9,560
SFat—2=UNis| 2,000& = 4,730m 9,460
o WIT X Y| 100,000& * 1CH 100
OEAFHOIIE ANERX 4,666
oA 27 Xl bl 2,000& = 2,333m’ 4,666
OEI/RYO0otIIE AIERX 30,687
oA 7 Kbl 1,000& * 30,687m 30,687
202 4] 2,400 2,400 0
01 2LHOHI 2,400 2,400 0
Ot 838 & B 2,400
S0FEFHS 22 11,960 9,960 2,000
201 2yt 2 Y| 7,760 5,760 2,000
01 AFR2t2l bl 7,760 5,760 2,000
OsJIese g3+ 2 1,200& = 200Kl CH 240
Ogasdgsrz 3,000& * 40AICH 120
O8X=8 Zl==r= 2,000,000& * 1AICH 2,000
OsX2 st iaddE =42
200,000& =« 1AICH 200
O8XZ2 MALF L FAHHAA
270,000& = 10AICH 2,700
Osk222 HAEH S22 500
O=20zx¢ A2 Tz X224 2,000
202 04| 4,200 4,200 0
01 201 b 4,200 4,200 0
O8ia 7485 = 800
O8X2 AR gol 1,000
OsX32 Mg €254 2,400
NYU =S Y25z pie 1,105,925 1,105,925 0
802 Bt&t = DI EF 1,105,925 1,105,925 0
0B eH=s 1,105,925 1,105,925 0
OSd1x AIGOIIE YFE2S2 Htet
3,150,000 = 15 CH 47,250
OEARH2I AMIEOIHE FE2S2 Btst
21,000,000& * 10AICH 210,000
OEI Y 2AUOIIE 2252 btat 848,675
o39A(E=F) 10, 154,000& * 3AICH 30,462
o3W(ESF) 10,154,000& * 1AICH 10,154
S 40A(H &) 20,000,000& = 5AICH 100,000
o 49A-1( X &) 20,000,000& = 1AICH 20,000
©49B(& &) 20,000,000 = 3AICH 60,000
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o9l DEFE ol (FUAMY SE5) CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 49C(H &) 20,000,000& =« 1AlICH 20,000
©49C-1(& &) 20,000,000& =« 1Al CH 20,000
o 490(H &) 20,000,000& * 1AlICH 20,000
o5%B(HZF) 23,500,000& =« 1Al CH 23,500
o59B(& &) 35,000,000& * 1AICH 35,000
o59(HF) 22,488,000& = 1Al CH 22,488
o59D(& &) 34,000,000& * 5AICH 170,000
ObE(HZF) 22,515,000& * 1Al CH 22,515
o 59E(H &) 34,000,000 * 3AICH 102,000
ObF(HEE) 22,556,000 * 1AllCH 22,556
o 59F (& &) 34,000,000 * 5AICH 170,000
TEFY FNHUH JIBIL(FEANY SEa)) 3,122,239 2,589,240 532,999
ANZAU=E AIE2 FHI 100,720 100,720 0
401 AIEHIZ 28I 100,720 100,720 0
01 A& Bl 100,000 100,000 0
OANZGLH=E AIEE2 FHUI(3M SAl) 100,000
03 A& SR THHI 720 720 0
OAMNZGUU=C4 AIZ=2 FHl 204l
100,000,000& * 0.72% 720
[ {M=1Rs]! 3,021,519 2,488,520 532,999
801 Gl HIbl 3,021,519 2,488,520 532,999
01 BHoil bl bl 3,021,519 2,488,520 532,999
Ououlgl bl 3,021,519
BHSAYAH (FLAMLSEH) 31,523 63,755 £32,232
OIHA2IH(FEAIY SE3H)(FHAIY SLEIH) 31,523 63,755 N32,232
QlA2YHI(FHAIY SE3IA) 31,523 63,755 A32,232
101 14 Hl 31,523 63,755 A 32,232
03 RIAHAZZAE S 31,523 63,755 A32,232
O=0=e4 X3 &2l 22X E(1Y) 31,523
oJl23(728) 1,329,800& *» 1% * 12¢ 15,958
oS3 1,329,800 » 1H  400% 5,320
oMATHSH 100,000& » 1H » 12& 1,200
o Z UG AH| 120,000& = 1H » 128 1,440
ol 100,000& » 1H = 12& 1,200
o A 2 =4I 30,0002 = 1H » 128 360
oXEad 70,0003 ~ 18 = 128 840
It EE 100,000& » 1H = 128 1,200
o Z A FOHI 1,329,800& * 1% * 120% 1,596
cHXURSFII=E 82,3208 « 1H * 18 1,482
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SN FUMEXED
HE: HASS MBOUF N
o2l =220 AA(AEESII229 SEaH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QI M 2T 2 0t 729,281 592,694 136,587
= 98,575
= 14,443
Al 616,263
MNASE 42y X 633,203 503,431 129,772
= 71,075
< 14,443
Al 547,685
92320 NI (dz2E3JI=z29 SL3lH) 633,203 503,431 129,772
= 71,075
< 14,443
Al 547,685
o4=230213 2L (XHA) 539,999 443,861 96,138
308 XtXIEHH SOl A 539,999 443,861 96,138
07 IXNSHH UL S 539,999 443,861 96,138
OozeEsdzd 23 537,249
OHZMELIH 2E3 2,702
OFNFSRNR= K= = =) 48
=220 YR FA 8,720 7,920 800
= 3,488
= 2,616
Al 2,616
201 Let24dH] 4,200 3,620 580
= 1,680
< 1,260
Al 1,260
01 At 22l 2,300 2,140 160
O2A=2=50s ¢ HLEHE 2 300
= 120
< 90
Al 90
OgzssdiE g2 1,580
= 632
= 474
Al 474
OCIB20 Mol9ds HMsY 420
= 168
< 126
Al 126
02 2324l 1,900 1,480 420
OA=s50s &85 RERS 1,900
= 760
< 570
Al 570
202 04l 4,520 4,300 220
= 1,808
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HE: HASS MBOUF N
o2l =220 AA(AEESII229 SEaH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,356
Al 1,356
01 = LH o4 1l 4,520 4,300 220
Of2s0 J& 88 & ==Kk 22 3,120
= 1,248
< 936
Al 936
Oz g2 s A 1,000
2 400
< 300
Al 300
O AJI Atcll el =l 400
= 160
< 120
Al 120
20 2y #33 3,164 2,790 374
= 2,531
< 443
Al 190
307 21201 A 3,164 2,790 374
= 2,531
= 443
Al 190
01 =L =4l 3,164 2,790 374
o=o 2g #3233 3,164
2 2,531
< 443
Al 190
QU U B4 2HT Y X 48,111 19,968 28,143
= 38,489
< 6,735
Al 2,887
307 glz2tol & 48,111 19,968 28,143
= 38,489
= 6,735
Al 2,887
01 222 F2Hl 48,111 19,968 28,143
O§H & HoHe! 287 PN 48,111
= 38,489
= 6,735
Al 2,887
=0 2 243 2,209 2,162 47
= 1,767
< 309
Al 133
307 21201 A 2,209 2,162 47
= 1,767
< 309




FA: EPNE=IN
I s Y42y &
o XN (Ad2Es)I=2F SLE3H) fEH)

- _ _ RE]
M- B (3 H) - NBAY - B %@ﬁ 2t
Al 133
oze= 2,209 2,162 47
O20 FE 243 2,209
= 1,767
o= 309
Al 133
AL ME S X H 31,000 26,730 4,270
= 24,800
=} 4,340
Al 1,860
307 QI2t0| ™ 31,000 26,730 4,270
= 24,800
= 4,340
Al 1,860
1o2d 31,000 26,730 4,270
OAHd M2 X | 31,000
= 24,800
& 4,340
Al 1,860
THEES(FOIMET L) 20,733 24,470 N3,737
HEXNE(SESELIH)(ASESII2 Y EL3 20,733 24,470 N3,737
)
BEINES(Y2ESEHZH) 20,733 24,470 N3,737
02 BHEt 2 D] EF 20,733 24,470 N3, 737
01 2DNEX3EtE 2 17,000 19,498 N2,498
O=1N8Xxa YAl "t 17,000
02 Al - EHIEXZEHE 2 3,733 4,972 N 1,239
OSHIEXZ ZYTH v 2,000
ORY0IS3 a3 ey 1,733
HEM2HAH| (928502 EE3AH) 75,345 64,793 10,552
= 27,500
Al 47,845
olgdy|(9a2esd|la EY3H)(d2ESD] 75,345 64,793 10,552
EH3H)
= 27,500
Al 47,845
HR2AY| (Y BESIIS EE3H A230H2ACIALY 75,345 64,793 10,552
= 27,500
Al 47,845
101 21 214| 75,345 64,793 10,552
= 27,500
Al 47,845
I HAE 22 RE %= 75,345 64,793 10,552
od LER(1Y) 35,770
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N & o & AF & H Al A
20198 & =0ilat X &013 S8 H &F
AN FRMSTA L
HE: HASS MEOHE XL
telr JZMEEHIIZ RS (MEINS SE3AH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
QI M 2T 2 0t 1,882,558 1,802,000 80,558
MNASE 43 X 1,882,558 1,802,000 80,558
I=ME8FHIZ 22 (M= SLEIAH) 1,882,558 1,802,000 80,558
JIz=MeEZR™IIg 22l 7,500 11,900 A 4,400
201 L2l 7,500 10,000 A2,500
01 At 22l 7,500 10,000 A 2,500
OsXa3 MY Mit2e 2= 5,000
OC8itza Z20d SANE= 2,500
JIz=de2X®II3 88Xt 40,000 40,000 0
501 X3 40,000 40,000 0
01 RI2tEXt3 40,000 40,000 0
O==X & UHEld MRS SN 40,000
0l Bl Bl 1,835,058 1,750,100 84,958
801 Gl BI8I 1,835,058 1,750,100 84,958
01 L Etoildl bl 1,835,058 1,750,100 84,958
Ououldl bl 1,835,058




> A
A & 0l & AF 2 E A A
20199 = 20l4a MAXRAELEL2IALSES A Ml
2AM: LXield M ot
M S0 NAHAH ==
el MBI Pol U 2E B (MAXNTELUBALSH) CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2 XtelZ Mt 8,244,500 7,651,000 593,500
s 300,000
Al 7,944,500
Sa0Y NEMA 2= 8,214,864 7,617,813 597,051
s 300,000
Al 7,914,864
AR 2l 2 2 2 (MYERREL L2l AY 8,214,864 7,617,813 597,051
SH3AH)
s 300,000
Al 7,914,864
s3 - JIERXHI 28 22 287,501 786,237 A 498,736
101 @144 Hl 30,418 17,974 12,444
04 JIZHHZ22XRHEE S 30,418 17,974 12,444
O=s3 - IR 33| 30,418
=lles 66,8003 = 122 » 13€ = 23l 20,842
oxFFH 66,8003 » 128 » 52 = 23| 8,016
o 2HAH| 5,000& = 1228 » 13¢ = 23l 1,560
201 Let24d] 62,083 25,263 36,820
01 At 22l 26,840 8,420 18,420
Oo=zg=g % 2dEIN} === 5,000
Os3HX AIRa2e Jl=3l
400,000& = 128 4,800
od - 27 gz 60,000& = 200 » 12& 1,440
OHEIHANRIII 428 7¢
300,000& = 200 = 12 600
OM& & =di=72&Hl i = 15,000
02 =224l 35,243 16,843 18,400
Os3HX NH2E MIILS
1,500,000 * 12& 18,000
Os3sHA M3tz AER
100,000& * 200 = 12& 2,400
OSRIHANAE SA2e
100,000& » 204 = 128 2,400
O&Jlerdael 34 200,000& = 12& 2,400
OsSHAANRA dtted AAZZ
500,000& = 204 * 48 4,000
O=s3HX E3tx =H= 1,000,000 = 13 1,000
O3S0IEANE |X2e 4,500
OsSHXZeARA ANEAUHE RILILXIA 543
202 Odl 7,500 7,500 0
01 = LH 4 Hi 7,500 7,500 0
Os3sHA 243 dRFA 5,000
Os3H 22l 2= 2,500




2N

& Xtel Z J

M SA0Y XNEHHA 2=
el AYEX 2l ¥ 2% SHH (M4SN LL2LIAMSSESIAH) (22 &d)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
206 M= Hl 7,500 5,000 2,500
01 M= dl 7,500 5,000 2,500
ONMegE g3tz2s ¢ 4,500
Os3HAl #3834 4+ 3,000
401 AIEBIL 2 CHEI 180,000 730,000 A 550,000
01 A€ dl 180,000 720,000 540,000
s3HA AEE &b & 2= 180,000
ol gl Bl 7,327,363 6,831,576 495,787
801 ol 8l 7,327,363 6,831,576 495,787
01 &Btoldlbl 7,327,363 6,831,576 495,787
Oolldl bl 7,327,363
B HEE=3EHX “=AE FH 600,000 0 600,000
= 300,000
Al 300,000
401 AIEBIZ S CHYI 600,000 0 600,000
= 300,000
Al 300,000
01 AlZHI 596,243 0 596,243
OZds3HX ==AI2 FHl 596,243
= 300,000
Al 296,243
03 Al 2 THHI 3,757 0 3,757
OFE=s3HN “=AIE Edl 20
596,243,000& = 0.63% 3,757
HY2IZH (L Xl 3H D) 29,636 33,187 A3,551
Ol 2 (MR PELUB2IALSEEH) 29,636 33,187 ~3,551
el 2 29,636 33,187 A 3,551
101 Q124 H] 29,636 33,187 AN 3,551
03 RINAAL=22XE > 29,636 33,187 A 3,551
Os3tXze 224 E= 29,636
=Jlza 1,329,800& » 18 128 15,958
oa0i= 1,329,800& » 1& * 400% 5,320
oXUFA+E 100,000 * 1€ = 12& 1,200
ol Mg AHI 120,000& ~ 18 = 123 1,440
ocQlE 100,000 * 1€ = 12& 1,200
o JtH 2 =HI 30,0003 = 18 = 128 360
oXNELd 70,000& * 18 » 128 840
ctEE 20,000& » 1 « 128 240
o HE S OtH| 1,329,800& » 1& * 120% 1,596
cUXRSFI=E 82,3208 » 18 « 182 1,482




N = 0l & At & Ml A

20198 = =0lah =& 2el SE3H A

AN HAEnsSH
HM:. Hzns 4 XN
SRR PHANM(FUHRBR SLEIH) (29l & 2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A8 NS 915,313 650,257 265,056
szns =4 AA 915,313 650,257 265,056
FAEX SN (=RE2e S5 AH) 81,960 81,960 0
SYHFEI NS 81,960 81,960 0
201 et A | 71,960 71,960 0
01 AFR2t2l Yl 28,200 28,200 0
Ogt2H| 3,000
oANNMEXA & WEHSDXA UM
100,000& * 10&8fA 1,000
CNEMBAR MHARII| ADE 79
500,000& = 2CH * 23] 2,000
OEYFEX ROULZAIAG S22
2,100,000& * 12& 25,200
02 35244l 43,760 43,760 0
oREe2 2,500,000& * 12& 30,000
OSYHFEIX RO AIAE A& 22 13,760
olME3 4= 65,000& = 10J| = 12& 7,800
oc&AXUNE 8,000& = 107] = 12& 960
ocEZEYHFAEX ROEIMH RANES
500,000& =« 10CH * 13l 5,000
202 04| 10,000 10,000 0
01 2LH0HI 10,000 10,000 0
OuUsESXNE gRF4 10,000
SYFUE 012 HMHIA M2(F=EXHE2e SE3H) 833,353 568,297 265,056
SE=XE 4 22 21,191 21,191 0
201 LEt2 Y| 11,191 11,191 0
01 At 22l Yl 11,191 11,191 0
OQuszMdM 222 M 2,200
ol 48t 50,000& * 10004 = 23] 1,000
o Q) 2HEt 60,000 * 1004 = 23] 1,200
OSg=XE HMEdH gxs 5,720
oldIEH 440,000 = 4CH = 2¢ 3,520
oS 550,000& = 2CH * 23 2,200
QTS BEFIUE X AIS2(257m) 1,846
oMAES BIUFIE BX AlE2(257m) 1,506
oECA A BIEFINE BX AI22(4,177
m) 340
OFX&cId N2 & g9& 1,425
oM 22,000& * 259 * 13 550
o X)) 35,000& = 259 = 13| 875
401 AIEHIL 200 10,000 10,000 0




AN A4S0
A Hsus g4 XA
©el: BLEFIE 018 MHlA HMID(FXHE2e SE3H) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 10,000 10,000 0
O3Z=x& o8t & =XE EXE FH| 10,000
=0l Z ety et 400,000& = 1000 2 4,000
oFXE EXIE 200,000 * 100H & 2,000
oF=XZA HEX 200,000& * 200H & 4,000
ol Bl gl 812,162 547,106 265,056
801 OllHI bl 812,162 547,106 265,056
01 £etoildl bl 812,162 547,106 265,056
Ououlgl gl 812,162




20198 & 20

&b A=A E T

A S AT

X DX &R TAHE

N & Ol & At & & A

A

el FIDIZE TANEAL FU(SANLALUX S SH5H) (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S AR A4 D 451,243 458,870 AT,627
OlcHXI&E S A 451,243 458,870 AT,627
ZII0IEE SAAHEANE FE(SAHEAEHRNE L 451,243 458,870 ANT,627
Sg3)
ZII0IEE SAHEANLY 24 451,243 458,870 NT,627
401 Al HI & 28I 451,243 458,870 ANT,627
01 A& HI 451,243 458,870 NT,627
OFII0IEY ZTAHEHANE H+=E72A 24 429,743
OddgI==2 21,500




N = 0l & At & Ml A

2019 &= =0l &k JIBHAIE SEEH S

M S AT A D
X DX &R TAHE
SRl SAIDIEAIE S (OIBAIE SE3

Al (Sl & &)
= _ — d =

SN BA(SA) - MRAY - BES 0l &t o il HImEET
S Al TH 44 Dt 33,084 32,529 555
DlHXI&& ZAIHE 33,084 32,529 555
SADJIBAIE EF(0IBtAIE SE3IAH) 33,084 32,529 555
JIBtAIE R E 3 29 33,084 32,529 555
401 Al HIZ 2018 33,084 32,529 555
01 A& HI 33,084 32,529 555

OJIBtAIE EXIALY 33,084




= o
A & 0l & AF 2 E A A
20198 & S0la LHAFHIAXNJSES A A
2AM: LXield M ot
S UXN KR i - 232
SRl MEAFHIGY MM (LHAFHIAXNBSLSIH) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2 XtelZ Mt 660,230 58,204 602,026
= 7,100
Al 653,130
N e - 2322l 660,230 58,204 602,026
= 7,100
Al 653,130
dHAFHIG XNIMG (EHLAFHISXASEIA) 660,230 58,204 602,026
= 7,100
Al 653,130
LHATHIA JIBFELAMY 72,000 58,204 13,796
= 7,100
Al 64,900
201 2et24d] 12,000 7,100 4,900
= 7,100
Al 4,900
02 23=24gHl 12,000 7,100 4,900
OLHAFHIOIS BsANE 2Z222XE
1,000,000 = 123l 12,000
= 7,100
Al 4,900
206 = Hl 20,000 30,000 A 10,000
01 MHZ 4l 20,000 30,000 A 10,000
Os=¢E JH7Y & =AY 23X 20,000
401 Al HI R 201 I 30,000 21,104 8,896
01 A& HI 30,000 21,104 8,896
SH2AL 24 30,000
405 RHoHF S HI 10,000 0 10,000
01 AL EZFH S 10,000 0 10,000
O=XAIE HSX& 10,000
SHAFEIS SEXNFASE 588,230 0 588,230
201 et 12,000 0 12,000
02 23=2gHl 12,000 0 12,000
OgHALZBOE ZZ2SX &
1,000,000& * 12& 12,000
206 = Hl 120,000 0 120,000
01 MHZ 4l 120,000 0 120,000
OontsssAE =3XE 120,000
401 Al HI R 201 I 456,230 0 456,230
01 A& HI 456,230 0 456,230
OOtSIIEtAIE B & 25 456,230




